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Eastern Cape Physics September 2022: Errata  
Question 3: 

3.2.2  

Upwards as positive:  

∆𝑦 = 𝑣𝑖  ∆𝑡 =  ½ 𝑎 ∆𝑡2 

−8 = 𝑣𝑖  (1,28 − 0,6) =  ½ (−9,8) (1,28 − 0,6)2 

𝑣𝑖 = 8,432 𝑚. 𝑠−1 

 

3.4 Upwards as positive:  

Positive value of velocity should be 11,29 and not 10,84 as indicated. 

 

Downwards as positive: 

Negative value of velocity should be -11,29 and not -10,84 as indicated. 

 

Question 5: 

5.5 

Option 1: 

𝑊𝑛𝑒𝑡 = ∆ 𝐸𝑘 

𝑊𝐹 + 𝑊𝑓+ 𝑊𝐹𝑔 =  𝐸𝑘𝑓 − 𝐸𝑘𝑖  

𝐹 ∆𝑥 cos 𝜃 + 𝑓 ∆𝑥 cos 𝜃 + 𝑚𝑔 ∆𝑥 𝑐𝑜𝑠𝜃 =  ½ 𝑚 𝑣𝑓
2 − 0 

3600 × 12 × cos 0° + 1540 × 12 × cos 180° + (−8820) = ½ × 75 × 𝑣𝑓
2 

𝑣𝑓
2 =424 

𝒗𝒇 = 𝟐𝟎, 𝟓𝟗𝟏 𝒎. 𝒔−𝟏 
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Option 2: 

𝑊𝑁𝐶 = ∆ 𝐸𝑝 + ∆ 𝐸𝑘 

𝑊𝐹 + 𝑊𝑓 =  (𝐸𝑝𝑓 − 𝐸𝑝𝑖) + (𝐸𝑘𝑓 − 𝐸𝑘𝑖)  

𝐹 ∆𝑥 cos 𝜃 + 𝑓 ∆𝑥 cos 𝜃 =  (𝐸𝑝𝑓 − 𝐸𝑝𝑖) + ½ 𝑚 (𝑣𝑓
2 − 0) 

3600 × 12 × 𝑐𝑜𝑠 0° + 1540 × 12 × cos 180° =  (8820 − 0) + ( ½ × 75 × 𝑣𝑓
2 − 0) 

𝑣𝑓
2 =424 

𝑣𝑓 = 20,591 𝑚. 𝑠−1 

Question 7: 

7.3  

𝐸 = 
𝑘𝑄

𝑟2
 

𝐸1 = 
(9 ×  109)(10 × 10−6)

(0,1)2
 

𝐸1 = 9,00 × 106𝑁. 𝐶−1 𝑡𝑜 𝑡ℎ𝑒 𝑟𝑖𝑔ℎ𝑡 

𝐸𝑛𝑒𝑡 
⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗  ⃗ =  𝐸 1

⃗⃗⃗⃗  ⃗ +  𝐸2
⃗⃗⃗⃗  

Take left as positive 

4,70 × 106 = −9,00 × 106 + 
9 × 109

(0,4)2
× 𝑄 

𝑄 = 2,436 × 10−4 𝐶 

Question 8: 

8.1 Maximum energy provided by a battery per unit charge passing through it. 

Die maksimum energie wat ‘n battery kan lewer per eenheidspositiewe lading wat 

daardeur vloei. 

8.2.2 

𝑚 =
∆𝑦

∆𝑥
 

𝑚 = 
1,2 − 1,4

2,5 − 0
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𝑚 = −0,08 

But/Maar  

𝑚 = −𝑟 

𝑟 =  −(−0.08) 

𝑟 = 0,08  

Question 9: 

The numbering is totally incorrect. 

Question 10: 

Correct answer for 10.5: 

𝑓 = 1,772 ×  1016 𝐻𝑧 


